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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the correct punctuation for a direct quote:

"He said: 'I am here'."

"He said 'I am here'."

"He said, 'I am here.'"

"He said, 'I am here'."

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in the
paragraph:

Ending hunger entails ending chronic undernourishment. Undernourishment occurs when “a person is unable to acquire enough food to meet daily
minimum dietary energy requirements for one year”. It is a serious condition that can lead to stunting, other long-term effects on health, and
diminished educational attainment.

(Source: worldbank.org)

Which of these is NOT an effect of undernourishment?

Stunting

Diminished educational attainment

Long-term effects on health

Inability to meet minimum dietary requirements

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in the
paragraph:

Ending hunger entails ending chronic undernourishment. Undernourishment occurs when “a person is unable to acquire enough food to meet daily
minimum dietary energy requirements for one year”. It is a serious condition that can lead to stunting, other long-term effects on health, and
diminished educational attainment.

(Source: worldbank.org)

Which of the following can be logically inferred from the above information?

Hunger cannot be ended without ending undernourishment.

Low educational attainment leads to undernourishment.

Stunting is the inability to meet dietary energy requirements.

People need to be educated about the problem of hunger.

Not Answered

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate option based on what is said in the
paragraph:

Ending hunger entails ending chronic undernourishment. Undernourishment occurs when “a person is unable to acquire enough food to meet daily
minimum dietary energy requirements for one year”. It is a serious condition that can lead to stunting, other long-term effects on health, and
diminished educational attainment.

(Source: worldbank.org)

Which word from the above paragraph means the same as 'persisting for a long time or constantly recurring'?

Entails

Chronic

Stunting

Diminished

Not Answered

Q.No: 5 Choose the option to correctly complete the sentence in the past perfect tense:
They ______ (promise) to help me, but they never did.

will promise

had promised

were promising

promise

Q.No: 6 Choose the correct article in English grammar, that completes the sentence:
_____ Himalayas are a majestic mountain range.

A

An

The

No Article Required

Q.No: 7 The teacher is giving a lecture.

Transform the sentence into passive voice.

The teacher is given a lecture.

The teacher gives a lecture.

A lecture is being given by the teacher.

A lecture is given by the teacher.

Q.No: 8 Choose the correct part of speech for the underlined word in the sentence.
The stormy weather forced the cancellation of the outdoor event.

Verb

Adverb

Adjective

Noun

Q.No: 9 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative suggested, select the one which best
expresses the same sentence in Passive/Active Voice.

They will demolish the entire block.

The entire block is being demolished.

The entire block will have to be demolished by them.

The block may be demolished entirely.

The entire block will be demolished by them.

Q.No: 10 Choose the correct part of speech for the underlined word in the sentence.
The mountain is covered with white snow.

Verb

Adjective

Noun

Adverb

Q.No: 11 Fill in the blank with the correctly spelled word:
The ______________ of the lost treasure remained unsolved for centuries.

enigme

enigima

enigema

enigma

Not Answered

Q.No: 12 Choose the correct plural of "vertex."

vertexa

vertexes

vertices

vertex's

Q.No: 13 Fill up the blank with correct option
Thank you___ Mohan. We deeply value your feedback.

Semi colon (;)

Period (.)

Comma (,)

Exclamation mark (!)

Q.No: 14 Choose the correct word for "a sudden and violent outburst of emotion or action."

Turbulence

Serene

Tranquil

Calm

Q.No: 15 Arrange the following jumbled sentence into a coherent order:

A. For

B. Birds

C. Migrate

D. Winter

E. The

F. South

A-B-C-D-E-F

B-C-E-F-A-D

B-C-F-A-E-D

E-D-B-C-F-A

Q.No: 16 What is the Antonym of ‘Attention’?

Neglect

Quiet

Lacking

Expel

Q.No: 17 Choose the correct question tag from the four options given, that completes the sentence logically and grammatically:
I can borrow your pen, __________?

can't I

do I

don't I

can I

Q.No: 18 Choose the correct option that completes the sentence logically and grammatically:
Please pass the salt ____________ the pepper.

nor

off

but

and

Q.No: 19 Choose the correct meaning of "cacophony":

Harmony

Discord

Melody

Serenity

Not Answered

Q.No: 20 Choose the correct part of speech for the underlined word in the sentence.
He writes meaningless letters.

Verb

Adjective

Noun

Adverb

Q.No: 21 Choose the most appropriate synonym for the underlined word in the given sentence.
The detective's astute observation revealed the hidden clue.

Dull

Forgetful

Clever

Foolish

Q.No: 22 What does the word "furtive" mean?

Honest

Sneaky

Open

Transparent

Not Answered

Q.No: 23 Choose the correct meaning of the idiom or phrase underlined in the sentence:
Vanita's parents gave her the cold shoulder after she broke the rules.

Offered her ice cream

Ignored her

Gave her a cold drink

Welcomed her warmly

Q.No: 24 Choose the correct option that completes the sentence logically and grammatically:
The teacher asked the students to ________ their textbooks for the next lesson.

brought

bring

bringing

brings

Q.No: 25 What is the future tense of the verb "to look"?

look

will look

looking

looks

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Q.No: 29

Q.No: 30

Not Answered

Q.No: 31

Q.No: 32

Q.No: 33

Not Answered

Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Not Answered

Q.No: 40

Q.No: 41

Not Answered

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Not Answered

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51
The ages of A and B are in the ratio 5:4. If the difference
between their ages is 6 years, then what is the age of A?

24 years

30 years

55 years

44 years

Q.No: 52
A deck of playing cards is shuffled, and one card is drawn. What is
the probability of drawing a King card?

1 1

1/13 1/13

4/13 4/13

4 4

Q.No: 53
If a letter is chosen at random from the word "GIGGLING", then what
is the probability that it is 'G'?

1/8 1/8

2/8 2/8

1/2 1/2

1/6 1/6

Q.No: 54 What is the Highest Common Factor (HCF) of 60, 90, and 120?

10 10

30 30

20 20

60 60

Q.No: 55
If the cost price of an article is Rs.120 and the selling price is Rs.180,
then what is the profit percentage?

35% 35%

50% 50%

40% 40%

25% 25%

Q.No: 56

When selling a cycle for Rs.9900, a person incurred a loss of 10%.
For what price should he sell it to make 30% profit?

Rs.14300 Rs.14300

Rs.12000 Rs.12000

Rs.15000 Rs.15000

Rs.13400 Rs.13400

Q.No: 57 Simplify : 5 + 3 x 4 - 2 x 3 + 1

22 22

12 12

10 10

20 20

Q.No: 58

7 7

Q.No: 59 Find the mean of the first three multiples of 3?

9 9

18 18

3 3

6 6

Q.No: 60 If A:B = 3:5 and B:C = 4:5, then A:B:C is ?

3:4:5 3:4:5

12:20:25 12:20:25

5:12:4 5:12:4

6:12:20 6:12:20

Q.No: 61
Surendra covers a distance by cycle at 18 km/hr. He returns to the
starting point in a bus at a speed of 45 km/hr. Find the average speed
for the entire journey.

31.5 km/hr

27 km/hr

25.71 km/hr

27.39 km/hr

Not Answered

Q.No: 62
A bus depreciates in value at a rate of 20% per year. If the initial
value of the bus is 50000, what will be its value after 2 years?

Rs. 54000 Rs. 54000

Rs. 45000 Rs. 45000

Rs. 32000 Rs. 32000

Rs. 33000 Rs. 33000

Q.No: 63 What percentage of 180 is 15?

9.33% 9.33%

8.33% 8.33%

10% 10%

12.5% 12.5%
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Q.No: 64

Ramesh's salary was reduced by 10% and then the reduced salary
was increased by 10%. What was his ultimate loss?

1% 1%

10% 10%

5% 5%

0% 0%

Q.No: 65

Q.No: 66 Heena is 15 years old. What will her age be in 7 years?

15 years

22 years

20 years

8 years

Q.No: 67
A motor bike travels 240 kilometres in 6 hours. What is its average
speed?

60kmph

44kmph

40kmph

45kmph

Q.No: 68
X can finish a work in 8 days and Y can do the same work in 6 days.
With help of Z, they did the work in 2 days only. Then, Z alone can
do the work in how many days.

5/27 days

24/5 days

25/8 days

25 days

Q.No: 69 What is the Least Common Multiple (LCM) of 2,6,10 and 12?

60 60

12 12

30 30

40 40

Q.No: 70
P can do a job in 15 days. In how many days can P and
Q together complete the job if Q is twice as fast as P?

2 days

5 days

3 days

6 days

Q.No: 71
Average age of 5 people is 42 years. Another group has 8 people
whose average age is 81 years. When both groups are mixed what is
average age of all people?

64 years

70 years

61.5 years

66 years

Q.No: 72 Evaluate: 2 - 7(4 - 3) + 8  2

1 1

-1 -1

5 5

-2 -2

Q.No: 73
There is a 10% discount on a dozen pairs of trousers marked at
Rs.8000. How many pair of trousers can be bought with Rs.2400?

7 7

6 6

5 5

4 4

Q.No: 74 A ratio equivalent to 5:9 is _____.

25:45 25:45

25:81 25:81

10:25 10:25

15:28 15:28

Q.No: 75
Sree invests Rs.10,000 at an annual interest rate of 6% compounded
annually. How much money will he have after 2 years?

Rs.11236 Rs.11236

Rs.12636 Rs.12636

Rs.12236 Rs.12236

Rs.12366 Rs.12366

Not Answered

Section - IV (General Knowledge)

Q.No: 76 The gas that is vital in maintaining atmospheric temperature is:

Hydrogen

Fluorine

Carbon Dioxide

Oxygen

Q.No: 77 Which of the following river is known as Dakshina Ganga?

Mahanadi

Godavari

Krishna

Cauvery

Q.No: 78 Who is the author of the book “Hind Swaraj”?

Lala Lajpat Rai

Bal Gangadhar Tilak

Mahatma Gandhi

Surendra Nath

Q.No: 79 Who is the first winner of Jnanpith Award?

Kuvempu

Damodar Mauzo

Sumitranandan Pant

G. Sankara Kurup

Q.No: 80 How many medals India won in Asian Games 2023?

112 112

107 107

103 103

101 101

Q.No: 81 The Consumer Protection Act was first promulgated in India in
which year?

1975 1975

1986 1986

1980 1980

1992 1992

Not Answered

Q.No: 82 "Mach number" is refers to:

Viscosity of Fluid

Strength of Material

Density of Gas

Speed of Sound

Not Answered

Q.No: 83
What is the full form of "TTE" in Railways?

Transfer Ticket Entertainer

Total Travelling Executive

Travelling Transfer Examiner

Travelling Ticket Examiner

Q.No: 84
The famous floating islands called Phumdis are found in which
of the following lake of India?

Kolleru

Chilika

Wular

Loktak

Q.No: 85 Which is the largest national park in India?

Nagarahole national park

Saddle peak national park

Hemis National Park

Sundarban National Park

Q.No: 86 World Hindi Day is celebrated on:

April 12

July 10

March 12

January 10

Q.No: 87 Article 226 of the constitution of India is related to:

Ordinance making power of President

Ordinance making power of Governor

Power of High Courts to issue certain writs

Power of supreme Court to issue certain writs

Not Answered

Q.No: 88
Odisha state cabinet has approved extending KALIA scheme for
another three years, in this context who among the following is the
beneficiary of this scheme?

Marginalised Women

Youth

Farmers

Socially Backward Classes

Not Answered

Q.No: 89 In which year Bharat Ratna award instituted?

1954 1954

1965 1965

1936 1936

1945 1945

Q.No: 90 Albuquerque captured Goa from the ruler of which of the following
regions?

Bijapur

Satara

Hyderabad

Mysore

Q.No: 91 What is the period and group number of Iron(Fe) in the periodic
table?

Group 6 and period 3

Group 8 and period 4

Group 4 and period 8

Group 3 and period 6

Not Answered

Q.No: 92 International Olympic Committee is headquartered in which of
the following places?

Lausanne

Tokyo

London

Delhi

Q.No: 93 Article 51A of our constitution is related to which of the following?

Directive Principles of State Policy

Lower House of Parliament

Fundamental Duties

Fundamental Rights

Q.No: 94 Who among the following was the first Viceroy of British India?

Lord Canning

Lord Dufferin

Lord Wavell

Lord Irwin

Q.No: 95 Between which two countries is the KONKAN Naval Exercise
conducted?

India and China

India and Bangladesh

India and United Kingdom

India and Sri Lanka

Not Answered

Q.No: 96 Rukmini Devi Arundale was a reputed dancer in which form of
dancing?

Bharatanatyam

Lavani

Yakshagana

Kathak

Q.No: 97 What is the motto of Olympic Council of Asia?

Ever Onward

Ever Freedom

Ever Unity

All Together

Q.No: 98
Who is the Union Sports Minister as of March 2024?

Nirmala Sitaraman

Anurag Singh Thakur

Dharmendra Pradhan

Kishan Reddy

Q.No: 99 Sarnath, is related to which among the following events in the life
of Buddha?

Nirvana

Mahaparinirvana

Moksha

First Sermon

Q.No: 100 Who is the author of the book titled "Victory City"?

Satyajit Ray

Sumana Roy

Jagdeep Dhankar

Salman Rushdie

Not Answered

Section - V (Computer Knowledge)

Q.No: 101 In the context of mail, what is the abbreviation of MIME?

Multipurpose Interconnected Mail Extensions

Messages Interconnecting Mail Extensions

Multimedia Internet Mail Execution

Multipurpose Internet Mail Extensions

Q.No: 102 The Programs which are as permanent as hardware
and stored in ROM is known as __________.

Software

Hardware

Firmware

Malware

Q.No: 103 The interconnection of networks all across the world is known as:

Web pages

Intranet

Internet

Ethernet

Q.No: 104 Which class of IP address is reserved for multicasting?

Class B

Class D

Class E

Class A

Not Answered

Q.No: 105 The list of coded instructions is called __________.

Codes

Flowchart

Algorithm

Computer Program

Q.No: 106 What does the term "Malware" stands for?

Malicious Firmware

Malfunctioning Software

Malfunctioning Hardware

Malicious Software

Not Answered

Q.No: 107
The default web browser for iOS devices are _________.

Opera

Firefox

Safari

Google Chrome

Q.No: 108 Which layer is responsible for changing bits into electrical signals?

Physical Layer

Presentation Layer

Transport Layer

Network Layer

Q.No: 109 The address 192.168.123.132 belongs to:

Class D

Class A

Class B

Class C

Not Answered

Q.No: 110 In which generation of computer, C language was used?

Third generation

Fifth generation

First generation

Sixth generation

Q.No: 111
The memory which allocates space for DOS and application is
called _________.

Expanded Memory

Virtual Memory

Cache Memory

Conventional Memory

Q.No: 112
The shortcut key "Ctrl + Right Arrow" is used to :

Move cursor to the end of the document

Move the cursor one word right

Move cursor to the end of the line

Move cursor to the end of the paragraph

Q.No: 113 The process of encoding data to protect it from unauthorized
access is known as ____.

Authentication

Decryption

Encryption

Detection

Q.No: 114 The shortcut key to strikethrough highlighted selection is :

Not Answered

Q.No: 115
_________is an extremely fast memory type that acts as
a buffer between RAM and the CPU.

Cache memory

Flash Memory

Virtual Memory

Read Only Memory

Q.No: 116 The information about the person at the end of every message that
is sent is called :

Abbreviation

Signature

Smiley

Receiver's name

Q.No: 117 Name the Operating System used in Nokia mobile phones:

Symbian

Android OS

Blackberry

Bada

Q.No: 118 Microsoft Access is a:

Object-Relational Database Management System

Network Database Model

Object-Oriented Database Management System

Relational Database Management System

Q.No: 119
What is full form of OLED ?

Organic Light Emitting Diode

Organic Light emission Diode

Organ Light Emitting Diode

Organical Light Emitting Diode

Q.No: 120
MAC address is a unique hardware address
assigned to network interfaces at the Data
Link Layer. What does MAC stand for?

Message Access Control

Medium Access Control

Media Access Control

Monitoring Access Control

Q.No: 121 The process of finding errors in software code is called ______.

Hacking

Debugging

Testing

Compiling

Q.No: 122
A __________ shares hardware, software, and data among
authorized users.

Transmitter

Network

Protocol

Hyperlink



Q.No: 123 In MS PowerPoint, the shortcut key to view the complete slide show
is:

Q.No: 124
An email account includes a storage area, often known as
_________.

Folder

Attachment

Directory

Mailbox

Q.No: 125
_________ creates an isolated passage across a public
network that enables computing devices to communicate
and receive data discreetly as though they were directly
linked to the private network.

Virtual Protocol Network

Vital Protocol Network

Visual Private Network

Virtual Private Network

Section - VI (General Science)

Q.No: 126
_______ flower only once in their lifetime and die immediately
after the seeds are set.

Gymnosperms

Angiosperms

Gregarious flower

Monocarpic flowers

Q.No: 127 The process through which soil erosion can be prevented

Afforestation

Excessive use of fertilizer

Deforestation

Overgrazing by animals

Q.No: 128 Which ray is least deviated by a prism?

Yellow ray

Green ray

Violet ray

Red ray

Q.No: 129 Response of plant roots towards water is called:

Phototropism

Geotropism

Hydrotropism

Chemotropism

Q.No: 130 Which
property of
metals is
used for
making
bells and
strings of
musical
instruments
like Sitar
and Violin?

Conductivity

Ductility

Malleability

Sonorousness

Not Answered

Q.No: 131 Acid rain is primarily caused by the emission of:

Nitrogen oxides and sulfur dioxide

Carbon dioxide

Methane

Volatile organic compounds

Q.No: 132 What is the pH of a neutral solution?

Q.No: 133 Which gland produces the hormone called "Insulin"?

Pancreas

Pituitary gland

Adrenal gland

Thyroid gland

Q.No: 134

Q.No: 135 Which one of the following shows the correct relationship in terms of
reactivity?

Pb > Pt > Cu Pb > Pt > Cu

Cu > Pt > Pb Cu > Pt > Pb

Pb > Cu > Pt Pb > Cu > Pt

Pt > Cu > Pb Pt > Cu > Pb

Q.No: 136 Which of the following cells are responsible for our skin colour?

Neutrophiles

Lymphocytes

Thrombocytes

Melanocytes

Q.No: 137 What is the S.I unit of frequency?

Second

Dioptre

Hertz

Meter

Q.No: 138 Which of the following does Darwin's theory not include?

Struggle for the existence of life

Survival of the fittest

Natural Selection

Evolution Through Inheritance

Q.No: 139 What is the major difference between plant cell and an animal cell?

Eukaryotic nature of cell

Cell membrane

Genetic material

Cell wall

Q.No: 140 What is the relation between Graphite's and Diamonds?

Both are allotropes of Carbon

Both are allotropes of Hydrogen

Both are isotopes of Hydrogen

Both are isotopes of Carbon

Not Answered

Q.No: 141 Non-conventional sources of energy are:

Non renewable

Exhaustible

Inexhaustible

Too expensive

Q.No: 142 What is the purpose of Rain-water harvesting?

To reduce soil pollution

To use water for the irrigation of crops

To rear fish

To recharge ground water

Q.No: 143

2 x 103 joule

2 x 102 joule

2 x 104 joule

2 x 105 joule

Q.No: 144 Brine is an aqueous solution of:

Sodium Hydroxide

Sodium Carbonate

Sodium Chloride

Sodium Bicarbonate

Not Answered

Q.No: 145 Which is the largest gland in human body?

Thyroid

Liver

Hypothalamus

Pancreas

Q.No: 146 Tadpole is the developing stage of which of these:

Dogs

Humans

Frogs

Cats

Q.No: 147
'Serpentes' is a scientific name of:

Sheep

Snake

Housefly

Rabbit

Q.No: 148 What happens to the current during short circuit?

Reduces substantially

Does not change

Increases heavily

Vary continuously

Q.No: 149 The SI unit of electric current is:

Ampere

Faraday

Ohms

Watt

Q.No: 150
A microscopic gap between a pair of adjacent neurons over which
nerve impulses pass is called

Dendrites

Synapse

Axon

Oesophagus


